I 204

o 5 =rrgr | Eil4 W GER
(s | B/R D
—{%IE B
X |[fEBECc)| KEB(CC) | HMBUKZE | H#iR 48 B&
48 = 19.5 14.7 == BE me |
68 i 25.2 22.0 =RE BE mae L3R -
8H| #= 34.1 31.0 =IE BE me |
108 i 245 20.4 =IE BE me |
128 i 15.2 12.5 == BE B -t mR
2B ® 9.0 8.5 =B B BE me
4ERIBER 3
oH DO BOD SS KEEHK
(mg/) (mg/) (mg/l) | (MPN/100ml)
=%(8| 6.0~85] 20LLE | 8O0LLF | 100LLF -
EHIE(75%1E) - 8.1 7.0(9.8) 9 180000
48] 75 9.9 5.2 5 240000
6A] 78 85 5.0 6 130000
8A 7.4 4.7 45 7 300000
10A] 76 74 7.3 2 280000
128] 78 85 10 29 70000
28 74 95 9.8 5 30000
BFEER
NI INEDS & R ANEvAaL| mE fKER 7 ILF¥ILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#E(E] 0.01LLF | E#EHE | 0.01LLF | 0.05LLF [0.01LLF | 0.0005ELF et
E{E - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
12A] - - - - - - -
;| - - - - - -
o007 _on e 1,2->70 [1,1->/n0|>A-1,2->50[1,1,1-~)Z00
PCB .y bR, 3 3 a4 | Trie Ay 5
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HAE(E] ERH 100280TF ] 0.002LLF | 0.004LLF [ 0.02LLF | 0.04LLF 1LUF
B3] - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
gAl - - - - - - -
108 - - - - - - -
12A] - - - - - - -
;| - - - - - -
1,1.2-ky4 [FUYZAB[FFSY0RI| 1,3-090 = PN FARUAIIL
aazss | 3L | FLr  |prasy | TOIA | YOV J
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HAE(E]0.006LLF10.03LLF | 0.01LLF | 0.002LLF [0.006LLF| 0.003LLF 0.02LLF
B3] - - - - - - -
7y - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2A] - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E M| 0.01LLF [0.01LLF 10LLF 0.8LLF 1LLF
15 - - - - -
4R - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—AF4 RILLT LT
e EER 2% 2 £ | YO0ORILL ER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 4.9 0.42 - 0.021 - -
4A - 7.8 0.53 - 0.016 - -
64 - 2.8 0.21 - 0.034 - -
8A - 1.9 0.26 - 0.006 - -
10H - 6.0 0.49 - 0.007 - -
12H - 4.4 0.64 - 0.046 - -
2R - 6.4 0.37 — 0.019 — -
R (7] WIHERE | UUER . o =3 S
IT/=| xS coD el > A EXEER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (4 S/cm)
EEEl - = 74 = = = 230
47 = - 7.0 - - - 200
68 — - 6.2 - - - 170
8H — - 7.6 - - - 200
10H - - 9.1 - - - 270
12H - - 5.6 - - - 280
28 — - 8.6 - - - 270
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48 = 19.2 16.2 == ey R - R mR
68 i 25.2 23.9 =IE e iR - mR
8H| #E= 34.3 31.2 == BE xB-E mR
108 & 24.7 21.5 =RE BE kEf-E me
128 i 17.0 16.8 == BE xB-E mR
2R i 7.7 11.0 xE BE fxfh - B®R
4ERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
=%(8| 6.0~85] 20LLE | 8O0LLF | 100LLF -
EHE(75%1E) - 6.1 2.5(3.3) 2 85000
48] 77 6.5 3.3 3 50000
6A| 78 5.6 2.0 2 17000
8A|l 77 6.4 2.8 3 110000
10A] 76 5.7 1.7 1 300000
12A] 78 5.9 3.5 2 30000
2A] 718 6.6 1.8 2 3000
BEEIER
N INESS P ED RPN E S $hok R T ILEILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLF | ERE | 0.01LLF | 0.05LLF | 0.01LLF | 0.0005LLF JERRH
1 <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 -
48] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 -
8A - - - - - - -
10A] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 -
28 - - - - - - -
oo00A .. 1,2->40 [1,1-C4on|PX-1,2-240(1,1,1-k)40n
PCB 5 bR A E 3 axs | TFLo Tl sy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] ERE [0.02L0F] 0.002LLTF | 0.004LLF | 0.02LLF | 0.04LLF 1LTF
SE{E] <0.0005 | <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
48[ <0.0005 | <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
6A| <0.0005 [ <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
8AH - - - - - - -
10A] <0.0005 | <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
12A8] <0.0005 | <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
28 - - - - - - -
1,12-+y4 |M)YB0(Fr5900x| 1,3-49A = s = ose FARLAIL
nazsy | TFLY | FLy | oFacy | TUOIL | YRIY J
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF | 0.002LLF [0.006LLF| 0.003LLF 0.02LLF
SE{E] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4 B[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8A - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E M| 0.01LLF [0.01LLF 10LLF 0.8LLF 1LLF
SEH{E]  <0.001 <0.001 0.71 0.7 2.6
4H] <o0.001 <0.001 0.74 0.7 2.8
6A] <0.001 <0.001 0.68 0.6 1.9
8H - - - - -
10H] <0.001 <0.001 0.98 0.6 2.2
12H] <0.001 <0.001 0.42 0.8 3.4
2H - - - - -
EDHIEE
Ny 22X | &% @ | 2E® | soofus [TRTVT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TiH{E <0.5 1.9 0.18 - 0.022 <0.001 <0.008
4A <0.5 1.8 0.17 - 0.025 <0.001 <0.008
64 <0.5 1.6 0.17 - 0.015 <0.001 <0.008
8A <0.5 1.8 0.24 - 0.014 - -
10H <0.5 2.1 0.21 - 0.021 <0.001 <0.008
12H <0.5 1.8 0.16 - 0.018 <0.001 <0.008
28 <0.5 2.0 0.11 — 0.037 — —
BiLH HHRRYE | VB s o =3 S
IT/=| xS cobD el > AE EXizEx
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHE]  <0.02 11000 4.0 0.07 0.15 - 33000
4H| <0.02 11000 3.1 0.08 0.13 - 33000
68| <0.02 10000 4.2 0.05 0.16 - 28000
8A - - 5.1 - 0.22 - 28000
10H]| <0.02 9900 5.1 0.09 0.16 - 26000
12H]| <0.02 15000 2.9 0.05 0.12 - 40000
28 - - 3.4 — 0.08 — 42000




